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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) oltemedi wEwem U U9 TF W T sawa: )

s T e forg vt e
TEAR HERE TO OPEN THE QUESTION PAPER

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) W T AEE E L,
All the questions are compulsory.
3) U A H IW & G I -G H & for
Write the answer to each question in the given answer-book only. ‘E
i
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Qug - A
SECTION - A
ot BAS
Muiltiple chojce -
1) ﬁwwﬁ%mmg@ﬁmmwﬁtmﬁml
Select the correct answer of following qﬁestions and write in the answer book.
D R e g o e s oft? [1]
) wm q) wa
| R 3 w
Which Nation did Germania became the allegory?
A)  Britain B) France
C) Germany D) Russia
i) mﬁ@ﬁﬁmﬁﬁnﬁﬂ%mﬂm%? [1]

H) TG e =) =EEh

|)  wifa 3) T T g0 W g

Which of the following symbolizes the rays of the rising Sun?

A) BeingFreed B) Heroisr‘n

C) Peace D) Beginning ofanew era

i) = d QR wite = A QR YT e mare [

HA) A= 9) .ug. T

w W& 3) sme A

Who among the following was awarded the Nobel Prize for Literature?

A) C.V.Raman B) V.S.Naipaul

C) Mother Teresa D) AmartyaSen

[ Turn Over
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VT wm 1]
H)  THE BN q) i SN
W) o EhR R) TR St B
What is “Jhum Cultivation™?
A)  Shifting Cultivation B) Commercial Cultivation

C) Plantation Cultivation

V), TR T wiy e T W e

D) Intensive Subsistence Cultivation

(1]

H) TWEQ ) wm
") W 3) TeEd
- Over which river has the Sardar Sarovar Dam been built?
A) Mahanadi B) Ganga
C) Narmada D) Godavari
V) TR wEE W g i (1]
H) A -t q) W - TEA
q) ER - A 3) EE - wOE
The Rabi Crop pair is -
A)  Wheat - Barley . B) Wheat - Rice
C) Jowar-Bajra D) Mustard - Cotton
vii)/ Afeeras | TurE = A R - (1]
) e q) dwmn
q) IR 3) T
The name of the capital of Belgium is -
A) Colombo B) Bangkok
C) Namur D) Brussels
viy it 3§ e e e & e 8 e o el 8 i 4 (1
) R q) TR Ty
w) B ?) TR Wiweam
Which of the following subject is not in any list of power distribution in constitution?
A) Trade B) Foreign relation
C) Education D) Computer software

6004

S—08-Social Science




ix) W(BAMCEF)émwmg- o
¥ Temy A) et
®) T e ?) e
BAMCEE Organisation i related to -
A) Politiciang B) ' Farmers
C) Govemment employees D) Workers
X) m%mwmmmm - 1]
L TN
) ol g b 3) A ot

Human Development report is publisiiied by -
A)  Uniteq Nations Development p
C) Reserve Bank

Y B vty . |

f0gamme B) World Bank
D) Niti Aayog

1

A) @ ﬁ | R) SR =
) wERF . 3) SR
Occupation related to secondary sector s -
A) Industries ~ B) Banking
C) Communication services D) Storage services

i) ﬁnﬁaﬁm%mm%ﬁm%amwm%— [
H) g .3 "R
q)  sgforn 7). st |
Which of the following countries is an example of a cheap manufacturing hyb?
A) England | - B) China

C) Australia | D) America



2) T wm §gfd hikw -
Fill in the blanks -

)/ T T FE W 3§ seEE w Al Hufet ey

e % ST 211

Companies, that do business in Several countries at the same time are called
corporations.

i) vﬁaﬁgaamﬁmmﬁﬁsﬁmm% FETd 2l [1]

The resources, obtained from biospﬁere and which have life, are known as

aﬁmﬁ%ﬁaﬂﬁmm%mmﬁmaﬁmmaﬁa
'/

e 8l [1)

A person who does not discriminate others on the basis of religious beliefs, is known
as )
V) e 3w R o T dm F mb H o R 8|
- Income of any country is the income of all the of that country.
Y T e R = e R [
Tertiary sector is also called as ..
Vi) ﬁ?ﬁamﬁﬁmiﬁlmﬁﬁﬁaﬁm‘i\ [1]
Rapid improvement in has stimulated the globalisation process.
3) ey (wﬁ%wmmm@dﬁaﬁam) .
Very short (Write the answer of the question in one word Or one line) ;
)/ wr&mﬁu%m@aﬁaﬁm%ﬁaﬁmmﬁmgqg? -
Why statues of Marianne were erected in public squares?
il ﬁ?ﬂaﬁmﬂﬁw%%mﬁ%gﬁmq&ﬁlﬁaﬁ:ﬁﬁﬁ:ﬁawﬁm? "
Which disease killed 90 percent of Cattle in the 189052
i) WA g=u e fhw 2w amﬁﬁmﬁ,—mnm?
In which country was the Bretton woods conference helqo [1
Iv) W ST el < gt 3 gy et
Write names of two things that are obtained frop, forest.
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VL T wmme

[1]
What is a “Tanka

V) RE |

S ﬁwmmaﬁamm%mml [V+Yva=1]
) rfte fames of two major fibre crops grown in India.

D sl v e e

.. ) : |
constitution besides Hindj? & :
|

et aﬁm%ﬂﬁmm%m%‘wﬁwﬁéwmaﬁﬁl

Give any one example of the transform

X) ,  wfta fawm @ s T e
What do you understand by sustainable development?

Xi)—~ mmmﬁmmaﬁﬁﬁﬁaﬁ? [1]
According to you where are most people of India employed?

xii) ISt Tt T Seargw w22 f [1]
What does Ranbaxy company produce? '

i)
) o
ation of the movement into a political party. |

(1]

g - q
SECTION - B

TYUCHE T — T A. 04 | 16 % I forfem (vieg dmn 50 w=e)

Short Answer Questions - Write the answer of the question Serial No. 04 to 16
(Words limitation of 50 words) :

‘:)/ T g 1l 121

What is conservatism?

5) et Rt 3 foeer fovm hreot o g R e 4 A7 2]

For what reasons the peasants of the Kheda district were not in position to pay the revenue?



[2
?
6) SR Yok R B

What is Tariff ?

: Rewor h wfra § wwegtl (2
_7/) HHQE gRT 9 G807 &

Explain in brief the ‘Forest Conservation by Community’,

8)/ WA % TR —Wﬁ%mﬁﬁﬁmwmmmnﬁaﬁmmﬁw
e R mm—%%gaﬁmmt@ﬁ? - [2]

As the Water - Resource Minister of India, if you were asked to draft a river valley project
what points would you take into account?

:

9) wrER F 6 =mEm S [2]

Discuss organic agriculture.

10) maﬁa@aﬁﬁ‘ﬁmmqéaﬁaqﬁm’aﬁﬁa}qﬁmﬁﬁal 2]

Explain in briefthe ‘system of check and balance’ jn power sharing.

11);mmﬁﬁ§aﬁﬁmﬁﬁmﬁﬁal [2]
Explain any two features of federal system.
12-)/ T HATER i fdre & fa wg 3R T 3 R v 3§ wn I R ? WETewT Tz

[2]

According to your view what is the difference between sectional interest groups and public

interest groups? Explain by example.

13) i Sefreruia e | 3 T § 2

What do you understand by non renewable resources?

(2]

14) seific g3 1 g @ e & saew

Give any two examples of Primary Sector Activity.,

(2]
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[2]
group.

(2]
work? Explain.

SECTI

ON - ¢
e I e — e |
Long answer type

79 20 % 3w iRy (1= i 100 vrez)
(Word limitation 100

questions - Write the answers of the question 17 to 20
words) :

1 ‘7)/ TR T X SIER ez 14 B
What is a nation according to Ernest Renan?

[3]
' 31?-131/ OR

m@mﬁﬁmﬁ%@m Y [3]

Write the features of libera] nationalism. .

18)/ THIAT & amnmﬁmm‘imaﬁiaﬂwzﬁrﬁml (1%+1v:=3)
Classify the resources on the basis of exhaustibility.
Faar/OR

Tnmmﬁ%ﬁm@i?yﬁammaﬁwﬂﬁmﬁﬁﬁﬂl
What is soil-

\ [1+1+1=3]
erosion? Write the reasons of soil-erosion and methods of soil-

conservation.
'lﬁfmmﬁmﬁmmw%ﬁqwmﬁ%ﬁ%mmﬁﬁﬁl [3]

Explain the three determinants of socia] divisions.

3t2an/OR
W S R i B we SiRw B
Explain ‘the origins of social differences’.
Turn Over
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20) aaaamamq-ﬁn@gmﬁw@ﬁ??ﬁrﬁ?ﬁqmm@m 3]
What facilities do you get from banks? Mention any three.
ara/OR

‘%muﬁr%@a@maﬁmaﬁ%ﬁﬂgﬁmﬂwﬁﬁl”wmwwﬁmﬁﬁ?
s w6 R SR 3]

“Banks use a large part of their deposits for giving loans.” Do you agree with this statement?
Explain your views.

[UE —- §
SECTION - D

FraereT 99 — W9 21 @ 22 % I el (a3 € 250 ]) ¢
Essay type questions - Write the answer of question 21 to 22 (Word limitation 250 words) :

21) mm%%ﬂm@ﬁrﬁﬁmwmﬂml

[4]
Descrlbe the activities of the cities during Non-Cooperation Movement
JFUA/OR
TETET TER X STEvAd W IEH F % o - ww e [4]

‘What did Mahatma Gandhi do to abolish untouchability?

zzya&ﬁtaaww%%auﬂﬁuﬁﬁmﬁaﬁﬁmmﬁﬁn&%?aﬁéwaﬁﬁéwwl
[4]

What provisions are made in the Indian Constitution for Secular Governance? Discuss any
four.

gar/OR
area & afzenall S feufd oo o GEdt A FTR GRS ) wie A wm wwo e SRA (4]

Why is the position of women still far behind of men in India? Explain any four reasons

04
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23) mmmﬁﬁnﬂmﬁaﬁaﬁq:—

Write the answer in the given map :-
 Preforfem =t iftem Sifm - [1+1+1+1=4]

q)

q)  Ieein

Mark the following in the given outlin
A)  Ajmer

B) Gaya

C) Durg

D) Nellore ,

€ map of India -

FET/OR

ﬁ&ﬁm%@mﬁaﬁﬁwﬁméﬁ sifde ity [1+1+1+1=4]
HA) T

qF) UEEHE
H) aRIR
) weaawn

Mark the following in the given outline map of India -
A) Naraura

B) Rawatbhata
C) Tarapur )
D) Kalpakkam





{"type":"Imported Receipt","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Receipt","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Other","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Receipt","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Receipt","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Receipt","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Receipt","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Other","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Receipt","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Other","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}



